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import torch.nn as nn
from dgl.utils import expand_as_pair

class SAGEConv(nn.Module):
def __init_ (self,
in_feats,
out_feats,
aggregator_type,
bias=True,
norm=None,
activation=None):
super(SAGEConv, self). init_ ()

self._in_src_feats, self._in_dst_feats = expand_as_pair(in_feats)
self. out_feats = out_feats

self. aggre_type = aggregator_type

self.norm = norm

self.activation = activation
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# TR,

if aggregator_type

if aggregator_type
self.fc_pool =
if aggregator_type

if aggregator_type
self.fc_self =

self.lstm = nn.

self.fc_neigh = nn.
self.reset_parameters()

KR mean. pool. Lstm. gcn

not in ['mean', 'pool', 'lstm', 'gcn']:

raise KeyError('Aggregator type {} not supported.'.format(aggregator_type))

== 'pool’:

nn.Linear(self._in_src_feats, self._in_src_feats)

== 'lstm':

LSTM(self. _in_src_feats, self. in src_feats, batch_first=True)
in ['mean', 'pool', 'lstm']:

nn.Linear(self._in_dst_feats, out_feats, bias=bias)
Linear(self._in_src_feats, out_feats, bias=bias)

T SERN R,
PyTorch NN*EH{", 15”;1[] nn.Linear .

P TEIIR.

fESAGEConveR, FARIIRIERGEMAMAE. XEERE
nn.LSTM %o $@iﬁ@§ﬁﬁ§§}§ﬂ§lﬁﬁ? reset_parameters()

def reset_parameters(self):
TR S ST R S

gain = nn.init.calculate_gain('relu")

if self._aggre_type == 'pool':
nn.init.xavier_uniform_(self.fc_pool.weight, gain=gain)
if self._aggre_type == 'lstm':

self.lstm.reset_parameters()
if self._aggre_type != 'gcn':
nn.init.xavier_uniform_(self.fc_self.weight, gain=gain)
nn.init.xavier_uniform_(self.fc_neigh.weight, gain=gain)
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